9 Academic Math

Day 1: Pythagorean Theorem, Perimeter & Area of Basic Shapes

Date:

Unit 7: Measurement

PYTHAGOREAN THEOREM REVIEW

‘RIGHT — ANGLE TRIANGLE’ - A right triangle is a triangle with one 90° angle. For example:
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2. My neighbour has a square vegetable garden which is 3.5m by 3.5m. He wants to put a walkway
diagonally through the garden to make it easier to get the veggies in the middle. How long will his
walkway be?
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3. An emergency boat is on one side of a waterway and there are cries of help on the other side. The
waterway is 20m wide and the boat is about 35 m down the water way from the people in need. What
is the distance the boat must travel if they go directly (diagonally) to help?
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152 +20 =c*
HELP! HELP! 35--
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L c :(‘0_‘5 ;BOAT

35m

- T+ must Favel 40.3m.

3. The window of a burning building is 24 metres above the ground. A ladder that is 30m is angled to
reach the window and the base is out from the wall. How far out from the wall is the ladder?

E 0:2 +2‘.{2 = _?DD'L
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4. A 16 m long ladder leans against a house. The foot of the ladder is 7m from the house. Find the
height of the ladder from the ground, correct to the nearest tenth of a meter.

0 h* + 71:_ lé?_
RS W +4a = 256
d
h* = 20% - Ids Le(')aw is .G,

T F (h’:."/l/.‘/v

Page-2-0f6



9 Academic Math

Day 1: Pythagorean Theorem, Perimeter & Area of Basic Shapes

Date:

Unit 7: Measurement

Review: Perimeter & Area of Basic Shapes

SHAPE PERIMETER AREA
Rectangle/Square P=2l+2w A=1lxw
4m P:Q'q+9~9- A:L’,X'L
2m P = ? _l' LI A= ?ML
= |2m
| 7
Triangle P = s1+s2+S3 Ao bxh
2
P=udt2€+725
A= 5 (2.2)
A= ?. qu?.
Parallelogram P = s1+S2+S3+S4 A=bxh
Y p=F2+Fy+ T34 | A_Fy (b.?—'s‘)

-4.'?-\\ 6.75cm xizcm P:QQ_’}_ A= uqq-’)'c,m"'
7.4c?n
Circle C=2m or C=m A=rxxr?
c=Ti10 A=T-5°
C= 6"“‘”"\ A:?‘?.‘)_CNV\L
What would you do if you * remember the radius is
know only the radius? xL half the diameter.
Trapeziod P=a+b+sl+s2 A:£(a+b)h
p=l0t64S+ 4 2
5 Sa— p= A5 A 2
s1? hoa ‘ s2, A=l 16.3
2
b— -'-'QL' CNV\?—
= P —
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Practice: Area and Perimeter

Find the area and perimeter (circumference) of each figure:

a.Rectangle b.Triangle c.Circle
5m
> Em 12m
P= Q(g)* 2(25) om C=Td
= < = 27,70,
A’-_' (_, - = b If)
5 (25) 4 b Ar=Tr> v=b~
= ' . 9 _
~—_|'1..‘5_M7" = L S
o 2 36T
= (13,99
d.Parallelogram e.Trapezoid
5km
l:) 6.3 m
12km 8.2 m
13km 63 m
T —_
?’; ]645—4’[3_‘ k 12.6m
= dlan
P=623+6.3+8.2412.6
A_ bxl = 334
=5 L A= L (63+12.6)%6.23
= 6o kv 2

b.3
- %ﬂ(ae?( )

ANSWERS: a. A=12.5m2, P=15m, b. A=54m2, P=41m, c. A=226.08m?2, C=37.68m?2, d. A=60km?2, P=36km, e. A=59.5m?, P=33.4m
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More Area & Perimeter Practice

Find the area and perimeter of the following shapes:

f. g. h.
2 cm
3 om
4.cm
/-}:LLO ; P=2L|*2 L Jcm A= (Tf?'
=t =4y A=53  P=25123 C':ﬂ,’l - T
= 8om ~12me SISt Zloth 4T =4
=1b e =12.5%+ =2.5%
A= Qo Pz |2um. A= _|Sim" P=_lbm A= 125 p = |2.57en"
L J 13 tm k.
g 5 CIm
3 cm I
' 12 crm
4cm - = — 54124 b
A-: —_ - 3. '-( = ) 2 _ 30“”
2 . =20~ | = 30t A=Ts6"* C=Td
- éC-v"' | _:-“3 IO(ML = |2Fr
| =31 %o
)
A= é[ !EL P= 'ZC“! ! A:&klﬂz P= gm A:”&l%l P:) i?om
l. n
?/ 1.3 @ = < 10 cm
.om A q’c
am 2em 2.4cm Hcm
A- 8(15)  P=%2+2L oo o
S m b 4y A=L(eD) T P=biritt? B cm
- v ) =1 3
= Mt Z20m e =8,y A-1(2+20) p=~613+|o+3+
:Q?:....,L =50
A=52m"  P=_20um A=lbgt  P=(flcm A= 4%m p= JOu

ANSWERS: f. 8cm?, 12cm, g. 15cm?, 16cm, h. 12.56m?, 12.56cm, i. 6cm?, 12cm, j. 30cm?, 30cm, k. 113.04cm?,
37.68cm, |. 10.4m?, 20m, m. 13cm?, 17.4cm, n. 48cm?, 30cm
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Area and Perimeter Problems

Complete the table for the circles with the following dimensions/measurements:

Radius Diameter Circumference Area
o.| Tem (o | C=l4T = 4397 A =Tl =1539y
p. (O.F e 21 cm 2.7 = 65.9F :_[f(;os)z' = 3yb.3L
a | 99 | 5%%m~ | T4 d884cm T(299% = 2825
r.. \2 'LL\ zﬂ} - 79,!.;0” Q:L - 452_._§Qm2 rt_ gy
i b =7

s. The world’s largest dish radio telescope has a
diameter of 305 m. What is the circumference of the

telescope?

C=Td
205d
Q38 19m

P=-2-p-2-9—0—0—"2

w+ 10

Determine the simplified expression for the perimeter
of this rectangle =<
410
Do+ 2019 dw+t

Determine the simplified expression for the area of
this rectangle

A— =W (U-"t [‘9)
= U\Jl—{' low
Calculate the value of w if the perimeter is 76 units

yw—+20 =156
w = 5L

t. A pool has a 50-m fence around 3 sides. One side is 14
m and the other sides are equal.

a. How long is each equal side?
+ Iy =52
y ] l, XX 7 | 'ﬁ'
W =17 'y

b. Fence posts costing $15.59 each is placed
every 2 m. how much do the posts cost?

—0—0—P—0—=0—0—0~ 0—9=0-90-0-0—9~ 0O
- 3 - o5.3
GP"’-} ﬂbf’cuh 1S lj"‘q = {o L{

—0—0

(0

2x +5

X+ 4

Determine the simplified expression for the perimeter
of this triangle

Pe W4T +3x-LAX+Y
=~ 6)( -l-'?"

Determine the simplified expression for the area of this

tri |
”i‘g-e, x (x=+4) = x(x+u)_ x4ux
2. 72 -
Calculate the area if x=11 )
A = ><O<+tr)= ucis - 825
L R

ANSWERS: o. 14, 43.96, 493.14, p. 10.5, 65.94, 346.785, (. 3, 6, 28.26,
V. P=6x+7, A=(x*+4x)/2, 82.5units?

18m, $389.75, u.P=4w+20, A=w?+10w, w=14,

r.12, 24, 75.36, s.957.7m, t.
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